Fractions and
i Decimals

Learn and Remember

1. Fraction can be expressed in the form of % (a and b are integers

and b # 0) where a is numerator and b is denominator.

2. The set of fractions is closed with respect to addition,
multiplication and division.

B B St Product of their numerators
uct of two fraction = 53t of their denominators °
1
4. Fraction acts as an operator ‘of ". For example, = of 3 is
i
=Sl
3
5. A reciprocal of a fraction is interchanging of numerator and
denominator.

6. Todivide a fraction by another fraction. We multiply the first
fraction by the reciprocal of the other.

7. A decimal number has two parts namely the whole part and
decimal part.

8. Decimal numbers can be added or subtracted by writing in
columns with their decimal points directly below each other
so that tenth should come under tenths, hundredth should
come under hundredths and so on.

9. Multiplying two decimal numbers ignoring the decimal point
and put the decimal point in the product by counting the digits
from its right most place.

10. To multiply a decimal number by 10, 100 or 1000 move the
decimal point in the number to the right by as many places as
there are zero over 1.

11. While dividing two decimal numbers, first shift the decimal
point to the right by equal number of places in both to convert
the divisor to a whole number.
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12. To divide a decimal by 10, 100 or 1000 shift the digits in the
decimal number to the left by as many places there are zeros
over 1, to get quotient.

TEXTBOOK QUESTIONS SOLVED
Exercise 2.1 (Page No. 31)

Q1. Solve:
3 3 . 7 R |
i) 2- 5 (i) 4+ 8 (iii) 5 + =
" 9 4 7 2 3 =2 1
(iv) ﬁ‘_lfi (v) 10+5*2 (vi) 23+3§
wii) 8% -3
Uit 2 - 8.
’ JRF 3 B 2
Sol. @) 2—~5—=——5—=g=15
(Taking L.C.M. of 1 and 5 s 5.)
. 7 _32+7 3 7
() 44 — = s e —48
(Taking L.C.M. of 1 and 8is 8.)
2 2z
(iif) 3 S Al = 21 (Taking L.C.M. of 5 and 7 is 35.)

8, 7 35 35

(Taking L.C.M. of 11 and 15 is 165.)

510 0B B g £ 16
10" .6 2 g
(Taking L.C.M. of 10, 5 and 2 is 10.)
_26 _13 _,3
10 5 B
(Change into mixed fraction.)
W, ) s 84 1 ) s arSi, .
(vi) 2§ + 3§ =3+ 2 (Change into improper fraction.)
= £ ; 2l (Taking L.C.M. of 3 and 2 is 6.)
37 1 E h :
w-Eie 6 8 (Change into mixed fraction.)



26

B R ______ Maremarics—VII
gk B INFTY "n99 .
(vir) 8—2— —35 Fogig (Change into improper fraction.)
68 - 29
B (Taking L.C.M. of 2 and 8 is 8.)
39 : ; :
T 4— (Change into mixed fraction.)
Q2. Arrange the following in descending order:
., 2 2 8 o 1 TR L0
@93 SR
o228
%o adig]
14 42 24 _
=5 63’ 63 63 (Converting into like fractions.)

(i)

On arranging the numerators in descending order when
denominators are same.

42 24 U
63”63 63
Write in their actual form.
Therefore,
E 842
v G g ¢
7 halhers I
5° 7' 10
14 30 49
= 70°70° 70 (Converting into like fractions.)

On arranging the numerators in descending order when
denominators are same.

o
70 70

Write in their actual form.
Therefore,

TS I
T

c.an
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Q3. In a “magic square”, the sum of the numbers in each

row, in each column and along the diagonals is the same.
Is this a magic square?

4 9 i
11 11 11
3 3 %
11 11 1
8 ¥ .
i 11 11
4 9 2 15
Along the first C
[ e ol e Wt 11]

9 2 15

4
Sol. Given, the sum of first row = — + — *IT 1

11 11
Similarly, we find the sum of each row column and also
diagonals.

7
Thesumofsecondmw:l—i+%+%=3_+i5_i*_=%
Thesumofthirdmw:llq.ﬁ %-%ﬁ_%
Thesumofﬁrstcolumnzf—l...f_l £=4+131+8=1_i
Thesumofsecondcolumn—i...is—l %=9L'151_+.l=¥i;_
The sum of third column = 121 + 1 e % o 2+171+6 il %

The sum of first diagonal (left to rlght)
4 5 6 4 +5+6 15

2 5 8 2+45+8 15

NS T i A U
Yes, this is a magic square because the sum of fractions in
each row, in each column and along the diagonals are the same.

1 2
Q4. Arectangular sheet of paper is 12-2— cm long and 10 g cm

wide. Find its perimeter.
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Sol. Given that the sheet of paper is in rectangular form,

Then, the length of sheet = 12% cm

and breadth of sheet = 10% cm

We know, perimeter of rectangle = 2(length + breadth)

=2 12—]:'!'103 =2 35*‘l‘g
2 2 3

[25x3+32x2] (75+64]
=2 e

139 1
=~3—= gcm.

. 1
Thus, the perimeter of rectangular sheet is 46 3 em.
A
Q5. Find the perimeters of (i) AABE

(ii) the rectangle BCDE in this 5em 33cm
figure. Whose perimeter is greater? & F 58 e
4
B E
Sol. (i) We have to find AABE’s perimeter 7
Given in AABE, g
C D

5 3 3
AB = 5 cm,BE:ZZ cm,AE=3g cm

We know, the perimeter of AABE = AB + BE + AE

= (§+2§+3§] cm = {§+H+§J cm

Ve il 215 145G
50+ 55+ 72 177
it RS O J b 2
17
Thus, the perimeter of AABE is 8% cm.
(it) Rectangle BCDE’s perimeter = ?
Given in rectangle BCDE,
3 T

BE=2Z cm,ED:E cm
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We know, the perimeter of rectangle = 2(length + breadth)

2 5 Bl
=2 (2%+ZJ cm =2 (—+—] cm

6 46
_g(33+14) a1 5
= 12 cm = 6 cm

Thus, the perimeter of rectangle BCDE is 73 cm.

Comparing the perimeter of triangle and perimeter of

rectangle,

gg T g
Thus, the perimeter of triangle ABE is greater than
rectangle BCDE.

Q6. Salil wants to put a picture in a frame. The picture is

3
73 cm wide. To fit in the frame the picture cannot be

3
more than 7—13 cm wide. How much should the picture

be trimmed?

3
Sol. Given the width of the picture = 73 cm

3
and the width of the picture frame = 7 10 o™

3
Thus, the pictured should be trimmed by 10 ‘™ -

3
Q7. Ritu ate — part of an apple and the remaining apple
was eaten by her brother Somu. How much part of the
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apple did Somu eat? Who had the larger share? By how
much? mn [ 2
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4 ¢ 1
12] hour = B hour

Sol. The part of an apple eaten by Ritu =

o] oo

Thus, Vaibhav took %i_ hour more than Michael.

And part of an apple eaten by Somu =1 — —g = %—3- = %
5 Exercise 2.2 (Page No. 36-37)
Thus, Semt ate 5 partof an'apple. Q1. Which of the drawings (a) to (d) show:
Comparing the parts of apple g = é 1 v 2
Thus, Ritu had the larger share than her brother Somu. @ 2x 5 (@) :\\ {;:
’ 3 2 3=2 1 SR,
Larger share will be more = ESpEE e T part. AL r-__ =
i 1 |
Thus, Ritu’s part is -15 more than Somu’s part. @) 2x 2 ()] . i i
7 LSRRI
Q8. Michaelﬁnishedmlouﬁngapictureinﬁ hour. Vaibhav e e T
g e i Y TN
finished colouring the same picture in - hour. Who @) dx g @) L
AL TR B QRS 1 1

worked longer? By what fraction was it longer? T

7 "‘\ I"

Sol. Time taken by Michael to colour the picture = — hour. 1 SN
12 (iv) 3 x (d) g
3 : X / \ i

4
Time taken by Vaibhav to colour the picture = 1 hour. ~aee?’ g O <
1 i RS |
i 3 ; : Car PO - A
To find longer time, let us compare T and 1 Sol. (i) —(d)Since, 2 x 5- 5.5
Converting them to like fractions, we have, ol : 1 1 1
il | 3% 3 b 9 (i1)—(b) Since, 2 x g + 2
2P aa T 12 i ik Ao 0 S WL
e s 1 E 1i)— (@) Since, ><3—3+3+3
ince, 7<9 80 15 < 75 . : ST
(lv)—(c)Since, 3'x — = —+ — + —.
Therefore, —= hour < — hour 4 32rre A
112 4 Q2. Some pictures (a) to (¢) are given below. Tell which of
Thus, Vaibhav worked longer time. them show:

. L sgatl 9-17
Vaibhav worked longer time = [4 12 ] hour = ( 12 ] hour @ 3x % 4 % @ @ @ . Q
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Q3.

Sol.
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@) 2x

P>
>

3 1 s= cawis il i | ]
sas =m0 - il i 2L -
iy el R TR R e B e
; _ Al ) 1.3
Sol. (i)—(c)Since, 3 x Rl
g . I il o 2
(it) —(a) Since, 2 x 373 + Sl
b ) Al e
(m)——()S:nce,3x4-4+4+4—4— 1
Multiply and reduce to lowest form and convert into a
mixed fraction:
. 3 3% 1 6 A 2
(i) 7xE (if) 4 x 3 (iit) Zx? (iv) 5 x 9
2 Y. v > 1 T 4
) 3 x4 (vi) 3 x 6 (vii) 11 x 7 (viii) 20 x 5
< 1 3
(ix) 13x§ (x) 15x5.
3 7% 93 1 Jianigisa]) 1
] R e——— e Y e —=—=—=1—
{t)7x5._ = 5 45 (1:)4):3 3 3 3
: 6 2x6 12 . 2008552 10 1
1 —Im e— i — = —=‘—‘-=:—=l_
(@i) 2 x 7 7 7 = (w) 5 9 9 9 9
) 4= 78 2 LD ax6 " 30
-y T r— i — . - S| Mham— | —— ='.15
(v) 3 = 3 2:3 (vi) 5 % 6 2 2
- 4 11x4 44 2
(vii) 11x? =T— 7 —67
(biisy Boe o e DR L gvaane
5 5
: 1 13 1 A 3% 15xq
b oo B e %y | oy, . — —3 =9,
(ix) 13>~:3_3 43 (xJ15x5 E 3x3
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Q4. Shade:

o
@) % of the civeles i box (@) 8
o

2
(i) 3 of the triangles in box (b)

ooooo
oboooao
oo0ooo

3
(ZiD) 5 of the squares in box (¢)

1
Sol. () 3 of the 12 circles = % x 12

= 6 circles shaded.

> 0O000O
B>1|1000®
Bl|00@e0

2
(z2) 3 of the 9 triangles = % x9

=2 x 3 = 6 triangles shaded.-

AAA
AAA

3
(6779 5 of the 15 squares = g x 15

= 3 x 3 = 9 squares shaded.

Q5. Find:

HEHEE D
ODEEEO
ooooQ

L

2
(b) 3 of (i) 18 (ii) 27

(a) - of (i) 24 (ii) 46

(]

4
(e) (d) — of (i) 20 (ii) 35.

of (i) 16 (ii) 36 5

Sol. (@) of (z) 24 (ii) 46

BO| = o

i 1
(7) 3 of24=§ x24=12

(iz) % 0f46=—12- x 46 = 23.
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Q7. Find:
2
®) = of (i) 18 (ii) 27 1 ool o @ 5 ciral qi'ad
3 g : (a) 2 ﬂtl’(z)24 '{u)49 (b) 3 -:»f(:)36 (31)93.
7)) - = — = = 1 . 3 e 2
(@) 5 efi8a xS R0l Sol. (@) 5 of )27 ()45
2 2 i ] 3 2 [ 2 | 3
i) 5 of 27= 3 x27=2x9=18. (ﬂiofzzzéxlz=§=1§
3 y s 1 2 L . 38819 1
— of (i) 16 (ii) 36 s Lt o SOV U8 NGS
(c) 4u(:) (iz) (11)20f49 3% 5 29.
. 3 3 5 5 2
(:)Zof16=zx16 =3x4=12 ®) §°f(":)3§(’:i)9§
3 3
2 of36= > x 36 =3x9=2T. h 3 gg8 5 28 _us 19
(i) 4 4 @) g ofdg = o x =2 =27
4 ' b o) RS L T S 1
(d) 5 of () 20 (i) 35 (i1) 3 0f93 iR e i —624.
Hd 4 Q8. Vidya and Pratap went for a picnic. Their mother gave
(2) 5 of 20 = T 20=4x4=16 them a water bottle that contained 5 litres of water.
2
(i) % of 35 = % %95 =4 % 7=28. Vidya consumed 5 of the water. Pratap consumed the
. Multiply and express as a mixed fraction: remaining water.
Q6 7 yl e 3 1 (i) How much water did Vidya drink?
(@) 3x5= (b) 5x6— (e) Tx2— (#Z) What fraction of the total quantity of water did Pratap
5 3 ’ drink?
1 1 2 Sol. Gi
1 3= x6 ) 3= x8. ol. Given,
(d) 4 XGS © 4 ¥ 5 (i) Total quantity of water in bottle = 5 litres
26 3x26 78 3 2
Sol. (@) 3x5% =3 x B 5 B =15g- Vidya consumed = r 0f5h°tres=§ x b litres = 2 litres.
3 27 b5x27 136 . 3 Thus, Vidya drank 2 litres water from the bottle.
b) BxB— =B5x — = —— = —— =33,
@135 4 e 4 4 4 () Pratap consumed = [1-2] part of bottle
gt 3y 9 _7x9 _63 .3 5
c U= =l PR = S Tl 2
4 4 4 4 4 P B part of bottle.
g o 0, D 36 e | \ 5
— N = — = = g
3 3 3 3 3 Pratap consumed = = of 5 litres water i.e., g x5
1 13 13x3 39 1 e
— = — =— = —i=19—., = 3 litres
(e) 34 x 6 4 x 6 5 2 ) & .
2 17 17x8 136 1 Thus, Pratap drank 5 part the total quantity of water.

(FUSE xBm—m x@= o= = = S2TY

5
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Exercise 2.3 (Page No. 41) i 9, 30 048 5
Q1. Find: 5 “Bx6 -2 " '35
3 4
@) l of (a) % (b) g (e) 5 (v) l _]_".5_ _ﬂ =4 .]é = é
4 3 8 3x8 24 ~ 8
W ( ) ) 2 (e = 11
@) 7o @ 9 5 10° e Lt I T
; | 3 A 2 1007 2%10 20 20
Sol. () =z of (a) 1 (b) 5 (clg (vid) 4 L 12 4x12 48 13
)11«1_1 T 1 my BT DS 8 e
(a it by e XA T ATl Q3. Multiply the following fractions:
1 . 8yl o8 13 .8 LGN PIeL TR A YABHGRe B3 8" 3
(b)Z°f§_4x5 > i (2) 5:(52 (i) ngs (iii) §x5-3- (iv) Exz?
RS S (AR = (T 1 2 4 & ol 4..8
(c)zof§=zx§=4x3—3 (0)35x? (m)2—x3 (vu)SE-xg.
1 2 6 3 L e 7 i s b ¢ Bl il
o= = s — Sol. — XB = X — m—— = = 9
@) 7of (@g b7 (@7 oL Gl & X0 % Gk ant i sk 6 L00
1 2 1 2 1x2 2 2 7
(a)=Sof = B wimis 2t o @) 6= _=§ 1_32_:’(7_._22._%_4_4.
iaae AT Pl il (e o= e sty
| GBI F-nE 1x6 6
{b}_-of— == W= =—= s 1 3 16 3x16 48
5 35 (i) = xBbr = X o= —— = — =
(P %5 O T St O s Ll e
S o (i1 ... TP | SO AN
©Z% %= 7%10 " 7x10 70 (iv)—éx2?=gx1?—5—x%3—§5—=21
Q2. Multiply and reduce to lowest form (if possible): Gx 7 48 2
o B, SO NSRRI LS ) B PO ol L S S 2, Lo
() 3x23 @) 7xg @) g x 7 ) = x % 5 X SN g g ¥ Vag
1 15 1y 8 4 12 1% Ry 13 18x8. 1 dg! dig
P R A CE N =1 i) — X —.- ( 2— x3=— =— =— =7T—=
(U) 3 x 8 {Ul) 2 x 10 (Uli} 5 X 7 Ul} 5 x 5 x3 5x1 5 75
2 9 - 2 g 2B 16 7 4 3 _25
o & e LA R e et ) O e e e O R e el
Sol. () 3 ><23 3 X3 =2ax3 9 9 (vii) 3 5 7 X— = ——— = — = — =z?
WMy S e el D Q4. Wh.xc]nsgreater‘?
@R TR e 9 SR g
By 6_3x6__1§_3 (t)—ofzor-go (@) — of - or — of —.
@) g% %3~ 8xs 32716
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Sol.

Q5.

Sol.

Sol.

______ Marhematics=VII
(i)%of% or %of% (ii}%ofg or—gof%
2.3 3 5B L. 6 U
ira. T RrE 3 7 % glty
CILK 3 o 2
14 8 7 7
3.8 3 2
14 8 |
3 b, 1 6
Thus, 5 of g is greater. Thus, 5 of 7 is greater.

Saili plants 4 saplings in a row in her garden. The

distance between two adjacent saplings is % m. Find
the distance between the first and the last sapling.

) | - 3
Given that the distance between two adjacent saplings = 1 m

Saili planted 4 saplings in a row, then o o+« —
number of gap in saplings = 3. —o—+—+

Therefore, the distance between the first ™ —* """
and the last saplings Y

uy SOl ALY
_x4m..4m_ m.

Thus, the distance between the first and the last saplings is

1
21111

3
Lipika reads a book for 1 — hours everyday. She reads

the entire book in 6 days. How many hours in all were
required by her to read the book?

3
Time taken by Lipika to read a book = 1 1 hours.

She reads entire book in 6 days.
Now, total hours taken by her to read the entire book
3 7 21

1
=IZ ><6=Zx6= 2 =10§ hours.

1
Thus, 10§ hours were required by her to read the book.
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Q7. A car runs 16 km using 1 litre of petrol. How much

3
distance will it cover using 21 litres of petrol?

Sol. In 1 litre of petrol, car covers the distance = 16 km.

In 2% litres of petrol, car covers the distance = 2% of 16 km

1
—-1zx16km 44 km

Thus, car will cover 44 km distance.

Q8. (a) (i) Provide the number in the box [ ], such that

2
-5 xm—ﬁ.

(i) The simplest form of the number obtained in ]
is -
(b) (i) Provide the number in the box [], such that
24
x[]= 75"
(ii) The simplest form of the number obtained in[_]
is .

Sol. (@) () Given,

2 10
3 =3
2% b 10
Therefore, 3x10 = 30
2 5 10
Th x| =
" 3 %70~ 30
(i) The sim lestfrmof—5-—i -
it e simp 0 083
(b) (@) Given,
3 24
5 xU=7%
3x8 24
Therefore, = =
ereiore 5 15 5
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3 8 24
i 5 |15| 7
(iz) The simplest fi f - is 8
i imp orm of 7= is 7.
Exercise 2.4 (Page No. 46)
Q1. Find:
: 3 i ) 7
@ 12 = 2 (i) 14 = 6 (iii) 8 + 3
i 2 2*1- ] 5'3i
(iv) 4+§ (@) 3- 3 (vi) 5+ 7
; 3 \ 3
Sol. () 12+ y 12 x reciprocal of 1
4 48
= 12'x ikl ok 16.
(@) 14+ — = 14 x reciprocal ofg
6 14x6 84
= = 2 —=— =16+
14 E 5 5 6
() 8+ 4 = 8 x reciprocal ofz
3 3
3 8x3 24
Bk e
. . 8
(iv) 4+ — =4 x reciprocal DfE
8 IgRG . 3 1
el i s
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(vi) 5+3$ = 5 x reciprocal of 3;]

, 25
= 5 x reciprocal of -
7

7 5x7 2
Ww T meet
Q2. Find the reciprocal of each of the following fractions.
Classify the reciprocals as proper fractions, improper
fractions and whole numbers,

3

@) 7 (i) ':' (iii) g (iv) ‘g‘
12 . el

@) 7 (vi) 8 (vii) Th

Sol. (i) Reciprocal of improper fraction.

(iz) Reciprocal of

e
— improper fraction.
—

(iii) Reciprocal of proper fraction.

Do w9 ci|o c|-3

(iv) Reciprocal of —— proper fraction.

(v) Reciprocal of

— proper fraction.

._q|5 D <3| m|or -a|w

1
12
(vi) Reciprocal of % = 8 — whole number.

(viz) Reciprocal of i%f = 11 —— whole number.

Q3. Find:
A vl . s
() 3 =2 (if) 9 =5 (iii) 13 7
s 1 1 3
(iv) 4§ =3 (v) 3§ + 4 ) 4? =7

T 7
Sol. ) = = —
i) 3+2 3 X
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) Lipet Lo lls
B) g “PT 9 " B 0wub B
e S Lgp Gl G
Wt T T T T a
o | 13 1 18x1 13 4
(w) 45 +3= 3 5—*—3)(3 = 9 —19.
1 7 1 Tx1 7
e R
. .8 31 1 31x1 31
i) 4 = Xy T A
Q4. Find:
i i 4 Lug 3 8
(i) 5 a (it) g 3 (iii) 7t
1 3 18 S |
jv) 2— + — S Ly e
(iv) 2 375 (v) 32 3 (vi) 5 ~
Lo i s o il
(011}35 713 (viii) 25 .15.
N TSI s
Sol. (t)g-z—gxl st T
@) & Sk 3 _4x3 2
e TR e il T R
gy S BB sRoR AT gr
WNE N T SR TR
G p 2 U SmRn RetE HOR 007 0
el T g Sl S e T Tl
1 g lga gy 7x3l! 910 0§
S R i i o s T T
g Bk . 2 2 2 _2x2 4
B R e BN s T 15

35 8 b b b5%x5 25 25

i g1, 8% {He's d1&  A1N U5

= — e U S e e — == =—=1=
(vii) 2 +15 5 5 5 X 6 8 G 6
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Exercise 2.5 (Page No. 47-48)
Q1. Which is greater?

(i) 0.50r0.05 (i) 0.70r 0.5 (@ii) 7or 0.7
(iv) 1.370r1.49 (v) 2.03 or 2.30 (vi) 0.8 or 0.88.
Sol. () 0.5>0.05 (i) 0.7>0.5 (@) 7>0.7

(fv) 1.37<1.49 (v) 2.03<2.30 (vi) 0.8<0.88.
Q2. Express as rupees using decimals:
(i) 7 paise (ii) 7 rupees 7 paise
(iii) 77 rupees 77 paise
(iv) 50 paise
Sol. We know, 100 paise = Re. 1
1

=3 1pmse=Re.%

: . i
(@) 7 paise = Re. 100 = Re. 0.07.

(v) 235 paise.

i ; 7
(#1) T rupees 7 paise = Rs. 7 + Re. 100

=Rs. (7 +0.07) = Rs. 7.07.

77
(ii1) 77 rupees 77 paise = Rs. 77 + Re. 100

= Rs. (77 +0.77)=Rs. 77.77.
50

(zv) 50 paise = Re. 100 = Re. 0.50.

(v) 235 pai —Rsﬁ—RSZ:Sﬁ
v) paise = Rs. 750 = Rs. 2.35.

Q3. (i) Express 5 cm in metre and kilometre.
(ii) Express 35 mm in cm, m and km.
Sol. (i) Express 5 em in metre and kilometre
* 5 cm in metre ¢ 5 cm in kilometre
We know, We know,
100 ecm = 1 metre 1,00,000 ¢m = 1 kilometre

1 1 -
lem = 100 metre lem= W kilometre
5cm= A x 5metre| 5em= g oDl kilometre
~ 100 "~ 1,00,000

Thus, 5 cm = 0.05 metre. Thus, 5 cm = 0.00005
kilometre.
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(ii) Express 35 mm in cm, m and km.
* 35 mm in cm, ¢ 35 mm in m

We know, 10 mm =1 cm We know, 1000 mm =1m
1 1
lmm_ﬁcm lmm—fo—m
35
Therefore, 35 mm = 10 ‘™ 35 mm = I(% m

= 3.5 cm. Therefore, 35 mm
= 0.035 m.

* 35 mm in km
We know,
10,00,000 mm = 1 km

1

———— km
10, 00,000

1mm=

=————km
35 mm = 500,000

Therefore, 35 mm = 0.000035 km.
Q4. Express in kg:
(i) 200g (ii) 3470g
Sol. We know, 1000 g =1kg

1
1 penat
2= 000 X8

1 1 200
m kg= [200x—]kg= I()Ba kg=02kg

(i) 4kg8g.

& 200g=200gof
i i 1000

1
1000

3470
1 ]kg=——kg

(i) 3470 g = 3470 g of kg = [ 3470x
g go g [ Fo 1000
=3.470 kg.

1

(iit) 4kg8g=4kg+8g=4kg+8gof1000

kg

kg =4 kg +

1
=4k 8
g*[ *1000

=4 kg + 0.008 kg = 4.008 kg.

Q5. Write the following decimal numbers in the expanded
form:

() 20.03 (@) 2.03 (Zi) 20003  (iv) 2.034.

1000] ke
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. 1 1
Sol. () 2003=2x10+0x1+0x 0 + 3 x 100
(@) 208=2x1+0x s + 3 x -1—
10 100
1 1
(i) 200.03=2x100+0x10+0x1+0x 0 + 3 x 100"
(fv) 2.034=2x1+0x iy +3x-—1— +4 x : :
10 100 1000
Q6. Write the place value of 2 in the following decimal
numbers:
(@) 2.56 (i) 21.37 (#ii) 1025
(iv) 942 (v) 63.352.
Sol. (i) 2.56
i—) 2x1 = 2ones.
() 21.37
|——> 2x10=20 = 2tens.
(ziz) 10.25
|—> ZXI]B":% = 2 tenths.
(iv) 9.42
|——) 2 x i = ik = 2 hundredths.
100 100
(v) 63.352
I—> 2x o2 = sy = 2thousandths.
1000 1000
Q7. Dinesh went from place A
to place B and from there B
to place C. Ais 7.5 km from
B and B is 12.7 km from C.

Ayub went from place A to

place D and from there to

place C. D is 9.3 km from A D c
and C is 11.8 km from D.

Who travelled more and by how much?

Sol. Distance covered by Dinesh when he went from place A to place
B=175km
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and from place B to place
C =12.7 km. Ar—= B
Total distance covered by

Dinesh 93

=AB+BC=(75+12.7) km
=20.2 km.

And, distance covered by Ayub 11.8km
when he went from place A to

place D =9.3 km

and when he went from place D to place C = 11.8 km

Total distance covered by Ayub=AD + DC = (9.3 + 11.8) km
=21.1km

On comparing the total distance of Ayub and Dinesh
21.1 km > 20.2 km
So, Ayub covered the more distance = (21.1 —20.2) km = 0.9 km
Thus, Ayub travelled more distance by 0.9 km or 900 m.
Q8. Shyama bought 5 kg 300 g apples and 3 kg 250 g mangoes.
Sarala bought 4 kg 800 g oranges and 4 kg 150 g bananas.
Who bought more fruits?
Sol. Shyama bought apples =5 kg 300 g and mangoes = 3 kg 250 g.
Total weight of fruits bought by Shyama =5 kg 300 g + 3 kg 250 g
J =8 kg 550 g.
Now, Sarala bought oranges = 4 kg 800 g and bananas
Total weight of fruits bought by Sarala = 4 kg 800 g + 4 kg 150 g
=8 kg 950 g.
On comparing the quantity of fruits 8 kg 550 g < 8 kg 950 g
Thus, Sarala bought more fruits.
Q9. How much less is 28 km than 42.6 km?
Sol. The difference of 42.6 km and 28 km is 42.6 — 28.0 = 14.6 km
: Therefore, 14.6 km is less. -

127 km

Exercise 2.6 (Page No. 52)

Q1. Find:
(i) 0.2x6 (i) 8x4.6 (iii) 2.71x5
(iv) 20.1x4 () 0.06x7 (vi) 211.02x4
(vii) 2 x 0.86.
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Sol. (1) 0.2x6=1.2
(i) 2.71x5=13.55
(v) 0.056x7=0.35
(vii) 2 x 0.86 = 1.72.
Q2. Find the area of rectangle whose length is 5.7 cm and
breadth is 3 cm.
Sol. Given, length of rectangle = 5.7 cm
and breadth of rectangle = 3 cm
We know, the area of rectangle = length x breadth
= (5.7 x 3) em? = 17.1 cm?
Thus, the area of rectangle is 17.1 em?,
Q3. Find:
() 1.3x10 (it) 36.8x10 (iii) 153.7x10
(iv) 168.07x 10 (v) 31.1x100 (vi) 156.1 x100
(vii) 3.62x100  (viii) 43.07 x 100 (ix) 0.5x10
(x) 0.08x10 (xi) 0.9 %100 (xii) 0.03 x 1000.
Sol. () 1.3x10=13.0 (i) 36.8 x 10=2368.0
(@) 153.7 x 10 =1537.0 (fv) 168.07 x 10=1680.70
(v) 31.1 x100=3110.0 (vi) 156.1 % 100=15610.0
(vii) 3.62x 100 =362.00 (viii) 43.07 x 100=4307.00
(ix) 0.5%x10=5.0 (x) 0.08x10=0.80
(xi) 0.9 x 100 =90.0 (xit) 0.03 x 1000 = 30.00.
Q4. A two-wheeler covers a distance of 55.3 km in one litre
of petrol. How much distance will it cover in 10 litres of
petrol?
Sol. In one litre, a two-wheeler covers a distance = 55.3 km
In 10 litres, it covers a distance = (55.3 x 10) km = 553.0 km
Thus, 553 km distance will be covered by it in 10 litres of petrol.
Q5. Find:

(i) 8x4.6=236.8
(iv) 20.1x4 =804
(vi) 211.02 x 4 =844.08

(i) 2.56x0.3 (if) 0.1 x51.7 (iii) 0.2 x 316.8
(iv) 1.3x3.1 () 0.5x0.05 (vi) 11.2x0.15
(vii) 1.07 x 0.02 (viii) 10.05 % 1.05 (ix) 101.01 x0.01

(x) 100.01x1.1,

Sol. () 2.5x0.3=0.75
(i) 0.2 x 316.8 =63.36

(v) 0.5x%0.056=0.025 (wi) 11.2x 0.15=1.680
(vii) 1.07 x0.02 =0.0214 (viii) 10.05 x 1.05 = 10.5525
(i) 101.01x0.01=1.0101 (x) 100.01x 1.1=110.011

(i) 0.1%51.7=5.17
(fv) 1.3x3.1=4.03
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Exercise 2.7 (Page No. 55)
Q1. Find:
(i) 04+2 (i) 0.35+5 (i) 248 + 4
(iv) 654 + 6 (v) 651.2+4 (vi) 14.49=7
(vii) 3.96 -4 (viii) 0.80 =5.
- 4 1 2 - 035 1
Sol. () 0.4+2_10x2_1 (ir) 0.35+5—100x5
7
=02, = —==0.07.
0.2 100 07
248 1 62 g 664 1
(t21) 2.48 + 4 = 100 X 1 =700 (lv) 65.4 =6 = 10 X 8
109
= 0.62. - E - 10.9.
6512 1 1628 : 1449 1
(b‘} 651.2-4—TX 4 =—*F (UI) 1449+ 7= 100 X'r}‘
207
=162.8 = T,
162.8 100 2.07
2| 396 1 99 80 1
(vit) 3—96+4=100X4 =100 (vie) 0.80+5_mx-5-
16
=0.99. =—=1),16.
0.99 100 0.16
Q2. Find:
(i) 4.8+10 @) 52.5+10 (iid) 0.7 =10
(iv) 33.1+10 (v) 272.23+10 (vi) 0.56+10
(vii) 3.97 + 10.
A 48 1 48 ) S R
Sol. (l) 4.8+10_Exﬁ_m (u}52.5+10_ﬁ~xﬁ
525 el
= 0.48. = m = 5.25.
7 1 7 n 331 1
(ziz) 0'7+10_T6XT6=1_(E v [(in) 33.1+10_—1in6
331
= 0.07. = 100 = 3.31.
27223 1 56 1
72. 1= — ) 0. =l
(v) 272.23 + 10 100 x10 (vi) 0.56+ 10 100x10
= 2123 _ o 003, LUBES 15

1000 1000
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397 1 397

=.0.397.
Q3. Find:
(i) 2.7+100 (ii) 0.3+100 (ii1) 0.78 =100
(iv) 432.6 =100 (v) 23.6 =100 (vi) 98.53 =100.
h 27 1 & 3 1
Sol. () 2.7 +100 = 70 X 100 () 0.3 +100= 0 © 100
27 3
| — I 2 » - m— » -
1000 0.027 1000 0.003
78 1 p 43260
(zz1) 0.78 = 100 = 100 X 106 () 432.6+100= 10 X 100
78 4326
= m = 0.0078. _M =4.326.
, 236 1 ) 9853 1
(U} 23.6 = 100 = W x Tﬁa (U!) 9853+100_ 100 o Ea
236 9853
e 0.236. e 0.9853.
Q4. Find:
(i) 7.9-1000 (ii) 26.3 = 1000 (iit) 38.53 = 1000
(iv) 128.9 1000 (v) 0.5-=1000.
79 1 79
S . ; e 8o o — — i — ], f
ol. () 7.9+ 1000 10 X 1000 ~ 10000 0.0079
(i) 26,3+ 1000'=/ 283 | L | 10263 o onss

10 1000 — 10000

3853 1 3853
(iz) 38.53 = 1000 = 100 X 1000 T =(.03853.

1289 1 1289

(v) 128.9 + 1000 = 10 x 1000 = 10000 =(0.1289.
5 1 51
( R = — = i— ) 5
v) 0.5+ 1000 1 X 1000 - 10000 0.0005
Q5. Find: :
(i) 7+35 (ii) 36+0.2 (iii) 3.25 0.5

(iv) 30.94 0.7
(vii) 76.5 + 0.15

() 0.5+0.25 (vi) 7.75+0.25
(viii) 37.8+1.4 (ix) 2.73 +1.3.
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Sol. () 7T+35= 7x§_7 %—%:.
(if) 36+0.2= 36x0—12—36x120_180.
(zii) 3.25+ 0.5 = % %:%x%:%:ﬁﬁ
(iv) 30.94 = 0.7 = 31%2: x%: &?x?=%=44.2
905802528 5 L o8 10 10,
(vi) 7.75+0.25 = I&xﬁz%x%:&.
(vii) 76.5+0.15 = ri‘;.{:)5xﬁziﬁxllo—o=51><10 510
(viii) 37.8 + 14=§Ex—1— ﬂ:*(E=27.

AR 10 14

273 1 293 - A0 21
B+l X = = — X =— =2.1.
(ix) 2.73+ 1.3 100 213" 100 13 = 1 2.1

Q6. A vehicle covers a distance of 43.2 km in 2.4 litres of
petrol. How much distance will it cover in one litre
petrol?

Sol. In 2.4 litres of petrol, distance covered by the vehicle = 43.2 km.
Now, in 1 litre of petrol, distance covered by the vehicle =43.2+2.4

432 1 432 10
(10’(24]"“‘ [10"24]“‘“

=18 km y
Thus, it covered 18 km distance in one litre of petrol..
[ ||




